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PROFESSIONAL EXAMINATION BOARD

Group 2 Lab Technician 2015

ENVSC 18th Oct 2015, 02:00 PM

Topic:- General Knowledge
1))

Question Stimulus :-

Madhya Pradesh was formed on the recommendation of:

HET YA HT TS+ FhEhT HRIHT I g3 4T ?

Pandit Nehru / 9f3d 8w

Sardar Patel / 93€R 9e&or

State Reorganization Commission / 31y gﬁ?IB?I' 3TIYT

State Disintegration Commission / 35 faerest 3mater

Correct Answer :-State Reorganization Commission / I1oY El_’?hl%?l' TIRT

2)
Question Stimulus :-

Mark the correct statement about freedom fighters from Madhya Pradesh?
ALY G2 F Tqaa1 GATHA YATAAT & Faed H Tl HUA HleT AT E7?
e Kunwar Chain Singh was the first martyr of battle of freedom./
TaAAT A & 95 UPE FAY drae &
e Rani Avanti Bai of Ramgarh, fought along Mandla army./
G Y T et 1§ AT Y Fa1 & Ty S A
e Sindhiya of Gwalior and Nawab of Bhopal fought against British during 1857./
TarfaraR & AT it sturer & aare 3= & Reg 1857 A @3 A

e All of the above. /

IWTd gl
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Correct Answer :-All of the above. / 3URFd |

3)
Question Stimulus :-

Pranahita is famous as:
yrorfear safav ufg 82
o A waterfall in Jabalpur./
SAIAGY T Teh STeq Tl
e Power project on the Chambal river./
SAIAGY T Teh ST qTed
¢ Junction of Vardha and waniganga rivers./
et v 3=t arem AT F1 HIrAH
¢ Old name of kshipra river./

R &) &7 =i AT

Correct Answer :-Junction of Vardha and waniganga rivers./ YT vg 3= rem AfeAY 1 HorA

4)
Question Stimulus :-

Madhya Pradesh Nagar Palika Nigam Act 1944 was passed to enforce?

FEY YT IR ifersht JTATATH 1944 F41 9] F3ar & forw il o aram a2
e 73" constitutional amendment act./
wfaere &1 73 a1 gae
e 74™ constitutional amendment act./
wfaere &1 74 a1 g

2nd

e To promote girl’s education. 72" constitutional amendment act./

TsfFaT FI e F T3 & AT GRS &1 72 a7 FEET
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e None of these. /
IRTFT H A FIg T8

Correct Answer :-
74t constitutional amendment act./ HIAUTT FT 74 a7 TAET
5)
Question Stimulus :-
Mark the correct statement about the Governor of a State:
(a) He is appointed by the President of India.
(b) Current Governor of MP is Mr. Ram Naresh Yadav.

(c) Minimum age qualification is 35 years.

Rt T5T & TSI & e H TE HUT FlT ATR?
(a) 3oThY FAgaar TR & Tregufer Ry Y SATelt &
(b) AT YN & TIATT ToqqTer 2 THAYL I1Ea &

(c) FLAAA 3H 35a¥
e a&b

b&c

a&ec

a,b&c

Correct Answer :-a,b & ¢
6)

Question Stimulus :-

Laadli Lakshmi Scheme benefits are:

TSl T&HY ISTAT F T

e Limited to 2 girl children only./
S asfFal ar dfAag
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e Limited to 3 girl children only./
et arsfral ar AT
e Limited to 1 girl children only./
tw asfFa e ifFad
e Limited to 4 girl child.
IR wsfRal o AfFa
Correct Answer :-
Limited to 2 girl children only./ & JsfFal & @RI &

7)
Question Stimulus :-

Madhya Pradesh’s first Wildlife Awareness Centre is at:
T Y20 T IgT I SNaeT ARTEHAT $og Fal 10T 87

Chhindwara./ f&garsr

Ralamandal, Indore./ TTHS, §aX

Bohani, Narshingpur./ S¥grf, s

Khamariya, Jabalpur./ @ARET, Seeqy

Correct Answer :-

Ralamandal, Indore./ TTHES, §&R

8)

Question Stimulus :-

What are the features of the Vindyachal Super Thermal Power Station?
(a) Stationed at Vindhya Nagar, Singrauli, Madhya Pradesh.

(b) It comes under Super Thermal Power stations series.

(c) Manufactured by NTPC.

feearae g Regga are @ fr gl w2 §?
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(a) TR, RTRYCH, AeT e A Rua §
(b) TE U fargga araerel Y siwen F1 Reard

(¢) NTPC &aRT 3cuifed &
e a&b
e a&ec
e b&c
e a,b&c
Correct Answer :-a & b
9)
Question Stimulus :-

Cabinet Committee on Economic Affairs (CCEA) approved Intrastate Transmission System in 7
states. Which of these states comes under this?

3T ATl At Fase FfAfA & FAENT IRYOT Jorrelt F1 3epAle 1Y TSl F AT R g Fe @
T SHSF e TaTd T &2

Assam./ 3TGH

Madhya Pradesh / A& geer

Kerala./ Tal

Manipur./ #fAqT
Correct Answer :-Madhya Pradesh / 7T &er

10)
Question Stimulus :-

Rakesh Sahni has been appointed as the chairman of?

T WGt Y e 1 3rewrat fagera fram arm 82
e MP Electricity Regulatory Commission./

#ey yer faega s smavr
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e B.H.E.L./

). v §. T,

e Narmada Valley Development Authority./

ToeT aeft faemTer wiferEor

e NTPC.
oot 8L ot .
Correct Answer :-Narmada Valley Development Authority./ sT5er aelt faerrer arf@reor

Topic:- General Maths
1)

Question Stimulus :-

By selling 8 bananas, a fruit seller gains an amount equal to the selling price of 1 banana. Calculate
his gain percent.

UF B [Ashdr 8 Fo TTF U Fol F1 FAHT HeT A1 7 IToed HTa1 8| 30 amer wferera iy arore
Hifa]

2 2
1572 / 157gfaera

2 2
1472, / 1479fQera

2 2
167 % / Tofaera

None of these./ SAR & IS gl

2 2
Correct Answer :-147 % / 147gfaera

2)
Question Stimulus :-

The price of petrol falls down by 20%. By how much percent must a man increase his
consumption, so as to keep his expenditure constant?

YT & T 20 TFA2UT A F &1 AT U SqTFd P 39ell @ AT @A & foIT @I FT fhaelr
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gfarera e Tnfge?

42%

25%

20%

10%

Correct Answer :-25%
3)
Question Stimulus :-

A sum of money doubles in 10 years. In how many years will it become four times at the same rate
of simple interest?

ue TfRr10 ast F SWrett 81 SATeh F1 AR sATe At FATT & A e ant 7 4 A g Smeaf?

30 years / 30 a¥

50 years / 50 a¥

20 years / 20 a¥

25 years / 25 a¥

Correct Answer :-30 years / 30 a¥
4)
Question Stimulus :-

In what ratio should water be mixed with wine, that costs Rs.60 per litre, so that the price ofthe
resultant mixture is Rs.40 per litre?

forar JreqaTer #F aTelt Y 60 T I ST AT T F A1y AT ST AT AT FT HEw 40 T wfa e
gl STe?

e 2:3
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Correct Answer :-1: 2
S)
Question Stimulus :-

16 litres of kerosene is mixed with 5 litres of petrol. The price of kerosene is Rs. 12 per litre and
price of petrol is Rs. 33 per litre. The average price of the resultant mixture per litre is? (In rupees)

16 T FAHT 1 5 ofieX I F e Hemr 1471 FHT F71 79 12 F 9fa e 3 e a0
Hed 33 T ufar afex 81 frsor &1 3itwa e wfer dier gem? (vadr )

e 15

e 17

o 21

e 23
Correct Answer :-17
6)
Question Stimulus :-

3 years ago the average age of Sonam’s family, consisting of 5 members,was 35 years. Last year a
child was born in this family. What will be the average age of this family three years from now? (In
years)

et 9 gger e & Ui WeEd T TRER Y itaa 31 35 9€ ot v A1 9 39 RGN A v R
aﬁmmgmlmﬂﬁwquﬁanaﬁaﬁﬂaaﬂmaﬁ? @y #)

e 36

5
34¢

4

355

None of these/ SFF# a El-flé' A8

5

Correct Answer :-34E
7
Question Stimulus :-

In a kilometer race, A can beat B by 100 m and B can beat C by 80 m. If A and C run in the same
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race, by how many meters will A win?

1 fFasfier frals 7 A, B, Y 100 e @ g0 Ha1 8311 B, C #Y 80 HeT ¥ &1 GFhar 8,37 A 31
csHriz A ST ar A, C F fFaa #Aew & wRIm?

e 172

e 178

o 220

e 200
Correct Answer :-172
8)
Question Stimulus :-

16 workers working 6 hours day can build a wall of length 150 meters, breadth 20 meters, and
height 12 meters in 25 days. In how many days 12 workers, working 8 hours a day will build a wall
of length 800 m, breadth 15m and height 6 meters?

16 AT 6 B T H1T FIF T 150 AT o), 20 A AN 3t 12 AT FH DarR A 25 BT &
AT Ghd &1 12 AT 8 B¢ gfafeeT w1 i 800 HeT &d), 15 Her A=Y 31K 6 e 3= Hiar fFa=sr
RT A T ahad &2

o 50 days/ 50 feeT
o 25days/ 25 f&e¥
e 100 days/ 100 =T
e 60 days/ 60 f&eT
Correct Answer :-50 days/ 50 f&=r

9)
Question Stimulus :-

In how many ways can 5 prizes be given away to 7 boys when each boy is eligible for all the prizes?

5 qIRATYET Y 7 ASHT BT fFde dig A T ST ThdT oaucd® 56T IR TIRATTH! Y It & fav
T §?
. 5!
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o« 7!

7
Correct Answer :-5

10)
Question Stimulus :-

What is the sum of first 10 prime numbers?

TYH 10 AT HEATHT FT INT F4T 82

Even/dH

0dd / RwH

Can’t say / &g gl "ohd
None of these / E?l'ﬁl' g HI5 TAer

Correct Answer :-Odd / fav#H

11)
Question Stimulus :-

How many possible pairs of numbers exist whose product is 5400 and HCF is 30.
W o dEanat F 3o wora § o e 5400 3R Fgcaw wHMEdS 30 @7

e 1

Correct Answer :-2
12)
Question Stimulus :-

A two digit number is such that the product of its digits is 12. When 36 is added to the number, its
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digits are reversed. Find the number.

UF & P! A AT F HP FT IO 12 g1 Ie €A # 36 SNST I @ 3dF HF 3¢ I
g5Ea A Ao
e 62
o 54
e 45
e 26
Correct Answer :-26
13)
Question Stimulus :-

Three years ago, X’s age was 2 times as that of Y’s. Seven years hence, the sum of their ages will be
83 years. What is the age of X today?

AT a8 qF X #r A Y A 3P & A oY, 7 asf F ag 3ART A 7 Ar 83 a gem X A
qAATT ATY FAT §7?

47 years/ 47 a¥

35 years/ 35 a¥

45 years/ 45 a¥

26 years/ 26 @Y

Correct Answer :-45 years/ 45 a¥

14)
Question Stimulus :-

Following Graph shows the number of students, who qualified in an examination, of three different
schools, in 5 different years? What is the ratio between the number of students who qualified in the
exam from school C in 2014 and the number of candidates who qualified in the exam from school
Ain 2013?
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&0
Tl
0
&0
&0
54 50 54
S0
40 40 0 0 T
L i)
3030 %) 30 =g
30 C
i
20
10
n i i
2010 23 2014

2011 02

I% 9ig qut # i Aot F ol oEl T FE9r F gAiar §12014 # R[eged C & Iedior
STl A &A1 Td 2012 & faggred A @ 3cclivh ol A &A1 1 3T AT H

5
7

7
5

5
Correct Answer :-/
15)
Question Stimulus :-

This question is followed by two statements A and B. Indicate your responses based on the given
choices?

If a, b and c are three consecutive prime numbers. Is ‘a’ an even number?
Statement A: ab + bc is an even number.

Statement B: abc + bea is an even number.

wmaﬁma#ma’rWAaﬁTBmgc%l 39T afafshar #1 A gu Reeql % MR W
Afra w12
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IR a, b, 3T ¢ T AR IFHTT FEIATT § | FIAT 'a' H TE&AT L2
FUT A : ab + be TH TH HEAT ¢

FY B : abc + bea T §H TE&AT ¢
e If a question can be answered using statement A alone but not by using statement B alone/

I 9o HT Sec Fad FUF A F 3TAT F AT ST TF W] FYA B & 399097 & |

o If a question can be answered using statement B alone but not by using statement A alone/

I 9o FT e Had FUA B & 3TAT ¥ AT 51 FF W FYA A F 39301 § AL

o If the question can be answered using statement A and statement B together but not by using
either statement A or statement B alone/

I 9T FT 3caR FYF A 3R FYqT B F UF T 39AT F faAwm S w9F W et ot v
FUT A AT B & 3940T ¥ LN

e If the question cannot be answered even by using statement A and statement B together/
IfE T & 3cal At FUAT A 3R BF e ary suAhr @ ot 7 wm s wF|

Correct Answer :-If a question can be answered using statement A alone but not by using
statement B alone/ If& T FT ek Hadl FUT A & 3UANT § &A1 ST T Wed Y4 B &
I9ART § AN

Topic:- General Science

1)
Question Stimulus :-

Small pieces of solid matter which are found scattered in the inter-planetary space of the solar
system are known as:

IR quITel % 3e-T6T A FER-34 Bl §U B Jeraf & BIE ¢hs g1l A v ATH § o) 37t &:
o Asteroids/ &% IE
 Meteoroids/ 3o&T 3
o Comet/ gHE

o Satellites/ 393g
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Correct Answer :-Meteoroids/ 3T U8
2)
Question Stimulus :-

The different colours of different stars are due to the variation of?

RffeT art & B Ao T AR@T & ¥ Fad [QEdad F FRor @9 &

Pressure/ gdld
e Temperature/ dTYHTT

Pressure and temperature/ gdId 3R arAE

Surface reactions/ ¥dg 9fafsar

Correct Answer :-Temperature/ dT9HTT
3)
Question Stimulus :-

Water is used to cool the engines of cars, buses, trucks, etc. It is because water has?

qreAt FT 9ANT FRY, T, TH F ST H 38T P F AU fFAr F1ar @1 v sufav FAr Far @
FIfF gl &1

Low specific heat/ /T fafdrse ama gar %

High specific heat/ 3= faflrse am gar &

Low viscosity/ A T egar gt %

High viscosity/ 3Td Teldl gidl %

Correct Answer :-High specific heat/ 3Ta fafrse am gar &
4)

Question Stimulus :-

Which instrument is used to measure speed of the vehicle?

qresT Y AT Y ATT T & AT TFT ITHI0T F1 T2A197 FohaT ST 272
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e Stroboscope/ TRNERT

o Streoscope/ TECATEHIT

e Speedometer/ s

e Tachometre/ THIHET
Correct Answer :-Speedometer/ THEYHIET
3)

Question Stimulus :-

What is the name of alcohol obtained in the saponification process?

doifhdeeT ufhar & Sl @1 sredigd area fHar Srar §:
-Easterlgﬁ'{'

e Glycerol/ TATSAIST

o Acetone/ TRAAT

e Mortar/ AR
Correct Answer :-Glycerol/ TATEA
6)
Question Stimulus :-

What is the chemical name of vitamin B1?

faef@s B1 &1 aafas aF #7482
e Retionol/ IfeANATer
e Riboflavin/ RatFenfas
e Thiamine/ ﬁNTHET-l'
e Ascorbic acid/ THHIfd® s

Correct Answer :-Thiamine/ f3ITHTST

7
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Question Stimulus :-

Which of the following below are the Alloys of solder?
frafaf@a & 2 Wiest #1 s urg 82

Tin and lead/ f&sT a7 9

Iron and nickel/ T'-ﬁé' IR AT

e Copper and zinc/ R IR &Sw
e Copper and tin/ ST AR feer
Correct Answer :-Tin and lead/ f&sT T o3

8)
Question Stimulus :-

Which principle or law states that in an unexcited atom, electrons reside in the lowest energy
orbitals available to them?

fre Rigea 3k e & 37 seaf@a ¢ & et e ooy &, saelrw 3a& AT suasy
qGH FqAdH Fal Afaced # ©A 8

Aufbau principle/ 3itFaTF Rged

Archimede's principle/ 3ThTARs Rgea

Boyles's Law/ Si0alol A g#

Avogadro's Law/ TaleeY faesr

Correct Answer :-Aufbau principle/ 3itFarF Rged
9)
Question Stimulus :-

The method of concentrating the ore which makes use of the difference in density between ore and
impurities is called?

IAEF & Fhegor A1 A, I swew qur agfeEt & A A saw w1 owEr w2 39 fewfaf@a
A § 91 T S0 8

e Liquation/ fararerer
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e Leaching/ ehfear

e Levigation/ afdarers

e Magnetic separation/ ﬂm JYFRIT
Correct Answer :-Levigation/ afastaret

10)
Question Stimulus :-

To manufacture vanaspati from vegetable oil which gas is used?

doiead A A FAEfa 99 & v fvw dw &1 yaher Far amar @2
Hydrogen/ gTggIotel

Oxygen/ 3TFHIST

Nitrogen/ ATSEYSTT

Carbon dioxide/ FTI SSHTFHISS

Correct Answer :-Hydrogen/ g$sisiel

11)
Question Stimulus :-

Which one of the statements given below is/are correct with respect to Tapeworm?
A1 T T garaeat A @ Fiar A1 aFaeT PrarH At & waew A @ e?
A. They are intestinal parasites/ & T RSl g §

B. They survives within the intestines of animals including humans/ ¥ ATal afed tl'ﬂ'&ﬁ Y AT F
saw shfaa wa &

C. They survives within the intestines of animals excluding humans/ & ATeTal & 3reTar 13I'Q_I_,'3ﬂ" $r
FarANRT T E
e Aand B

e AandC
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e Only A

e A,Band C
Correct Answer :-A and B
12)
Question Stimulus :-

Tetanus is caused by which of the following?

s ¥ fFTd FRUT &AW gar 87
Clostridium tetani/ FMNTECIIA AT
Mycobacterium/ mﬁﬁtﬂﬂﬂ'

Mycobacterium leprae/ ATSHIRTFERIT ARE
Vibrio cholarae/ RRfsat Flems

Correct Answer :-Clostridium tetani/ FANECISIA T

13)
Question Stimulus :-

Antiflatulent is used as?
3ev-aryg Vet &1 y2@nr frw w0 & R s &
e Drug that induces insensitivity to pain/ gaT St @31 & fer HACARIAdT B IURT FT §
e Drug that reduces intestinal gas/ &aT SV AT N FAFANE
e A drug used to lower body temperature/ QI T ATTATT FH FI & T YA Y IS gar
e Drug that is used to prevent pain/ §aT for@sT gawer digr it AvaA F fow fFar smar g

Correct Answer :- Drug that reduces intestinal gas/ aT Sit At AT N FHAFIAE

14)
Question Stimulus :-

Which is the best food source for sodium?
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AfTH & v g9 3reoT A aia F+41 82

Salt/ THS

Cereals/ ATHA

Pulses/ gelgel
Vegetables/ fesrar

Correct Answer :-Salt/ sTHE

15)
Question Stimulus :-

Optical fiber works on the principle of?

TCehd B’ FH RAGTd & ITUR 9T H1HA FdT§ 2

Refraction of light/ YhIT T FYgdd

Reflection of light/ WehT2T T URTacleT

Total internal reflection of light/ FehTRT hT T»'i’ ITIR® W=t

Prism / A

Correct Answer :-Total internal reflection of light/ Y<hIR[ T ‘{Ui' AR WradeT

Topic:- General Hindi
D

Question Stimulus :-

‘ret avg A T FENE F @A, 5 3FA F1 I9F §-
o 3TH & 3 fE & a
o R W FF arerEn
o AFQ eIThY dTCHAT

o ST &
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Correct Answer :-2Igg oI ATCAT
2)
Question Stimulus :-
AS THT FT IqA -
o W TFaF A T@ RAvar
o 3 qEaF H TG Ao o
o 3 TEAF A I RAAwar §
© H TFIS A TG adierar g
Correct Answer : -39 T¥a® 1 I8 Fdwar g

3)

Question Stimulus :-
FIET AT & HTAR @ A wEqT ¢ -
o 35
o at
o QU
o I
Correct Answer :-at
4)
Question Stimulus :-

arelt 1 fareer 2-
o &ER
o 37T
» g

o Il
http://localhost:61852/ 20/85
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Correct Answer :-&9oT
5)
Question Stimulus :-
faeer & & Fler a1 e QT Tl H yAer gar ¥ 2
o el
o odl
o &THT
o A3
Correct Answer :-&THT

6)

Question Stimulus :-
FIOT Jeqw Y A FFE Reg &1 A9 @ar ¥ 2
e ¥
o« H

& faw

e ol

Correct Answer ;-8
7
Question Stimulus :-

UAG Tl aTeT AT B-

http://localhost:61852/ 21/85



10/19/2015 localhost:61852

Correct Answer :-Hr
8)
Question Stimulus :-

Reor 78 Fead &2

G HT g<dT

Tﬁarra—rrre

TR ST g1

gﬁT FT FTdOT
Correct Answer :-g-ﬁr FT a1

9)

Question Stimulus :-

=ayor &1 glew fa=deg gem-
o 3eT+IAVOT
o 3T+UNOT

o 3TT+YYOT

HeId+UYOT
Correct Answer :-3I§+F¢UT

10)

Question Stimulus :-
TER-IRER 7H &1 e 34 &
o THAYT- NYATT
o FHCI- &I el
* ARCAT- <INET=AT

o 3cdiseT - yfa=m
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Correct Answer :-HRT- T

11)

Question Stimulus :-
AaE &1 wiew RA=dg gem
o HAME
o Hol: 4§l
o Hel+gY
o HA+IE
Correct Answer :-HeT:+g<

12)

Question Stimulus :-
‘FEIF A UG oA, AT Y T w7 &R
3TFT 9ET § -
o e
o T
o HGT
. 2@
Correct Answer :-agl

13)

Question Stimulus :-
FIeT AT Aeg gA dgagel A 9gFd g ¢ ?
o fary

e YIOT

http://localhost:61852/
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o HfFd
o 3FT H ¥ F§ G
Correct Answer :-9ToT

14)

Question Stimulus :-

faa-adra aeq 7w #1 @ 3 B
o Y- AMATT
o geEN)- BeRfed
o SET-HTIY
o fafRea- swmer
Correct Answer :-ffad- ser
15)
Question Stimulus :-
MNAT FT dgd grel-
. g

meT
- %
¢

Correct Answer :-3N&Y

Topic:- General English
1))

Question Stimulus :-
DIRECTIONS: Choose the option that can be substituted for the given sentence.
The arrangement of events or dates in order of their occurrence.

e Time table.
http:/localhost:61852/ 24/85
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o History.
e Chronology.
e Systematization.
Correct Answer :-Chronology.
2)
Question Stimulus :-
DIRECTIONS: Choose the option that can be substituted for the given sentence.
Primarily concerned with making money at the expense of ethics.
e Mercenary.
e Greed.
e Gluttony.
e Avarice.
Correct Answer :-Mercenary.
3)
Question Stimulus :-
What will be the synonym of ‘Eradicate’?
o Empty.
e Radiate.
e Vacate.
e Remove.
Correct Answer :-Remove.
4)
Question Stimulus :-
What will be the antonym of the word ‘Poverty’?
e Misfortune.
e Adversity.

e Prosperity.

http://localhost:61852/
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e Misery.
Correct Answer :-Prosperity.
S)
Question Stimulus :-
Choose the correct sentence out of the given sentences.
e Majority are in favour of this proposal.
e The committee are unanimous on this issue.
e The average Hindu family in India consist of five members.
e The speaker was not confident in his ability to deliver .
Correct Answer :-Majority are in favour of this proposal.
6)
Question Stimulus :-

DIRECTIONS: In the following questions, four alternatives are given for the Idiom/Phrase printed in
italics. Choose the alternative which best expresses the meaning of the Idiom/Phrase.

Sherry never claimed that attempting all the questions in given time could be a piece of cake for
him.

e something really tasty.
e something easily achieved.
e something achieved with greats efforts.
e something as tasty as cake.
Correct Answer :-something easily achieved.
7)
Question Stimulus :-

DIRECTIONS: In the following questions, four alternatives are given for the Idiom/Phrase printed in
italics. Choose the alternative which best expresses the meaning of the Idiom/Phrase.

If you need any kind of help, just give me a call. I will come at the drop of a hat.
e at any time.

e without informing.
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e without delay.

e as fast as a hat is dropped.
Correct Answer :-without delay.
8)

Question Stimulus :-

DIRECTIONS: In the following questions groups of four words are given. In each group, one word is
correctly spelt. Find the correctly spelt word.

Find the correctly spelt word.
e Beginning.
e Begining.
e Biginning.
e Bigning.
Correct Answer :-Beginning.
9)
Question Stimulus :-

DIRECTIONS: In the following questions four words are given. . Find the correctly spelt word.

Conscientious.

Consientious.

e Conscienceous.
e Conscientios.
Correct Answer :-Conscientious.
10)
Question Stimulus :-
DIRECTIONS: Fill in the blank with correct preposition.
Mr. Derrick lives ~ Rohini _ Delhi.

e at,in
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e in, at
e by, in
e in, in
Correct Answer :-at, in
11)
Question Stimulus :-
DIRECTIONS: Fill in the blank with correct preposition.
His doctor asked him to abstain __ drinks.
e of
e from
° by
e with
Correct Answer :-from
12)
Question Stimulus :-
DIRECTIONS: Out of the given options, which will be the correct passive form of the sentence?
Her mother is baking a cake.
e A cake is baked by her mother.
e A cake is being baked by her mother.
e A cake was baked by her mother.
e A cake was being baked by her mother.
Correct Answer :-A cake is being baked by her mother.
13)
Question Stimulus :-
DIRECTIONS: Choose the correct articles.
Unemployment is __ universal problem.

e the
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e a

e an

e No article required.

Correct Answer :-a

14)

Question Stimulus :-

DIRECTIONS: Choose the option that has the correct form of indirect speech.
Michael said, “I have passed the examination”.

e Michael said that she had passed the examination.

e Michael said that she has passed the examination.

e Michael said that she would pass the examination.

e Michael said that she would have passed the examination.
Correct Answer :-Michael said that she had passed the examination.
15)

Question Stimulus :-

DIRECTIONS: Arrange the following options to get a meaningful paragraph.
(A) To be healthy we should refrain from excess in eating.

(B) Health is the most valuable of all earthly possessions.

(C) We should eat less and not devour whatever we get.

(D) Without it all the rest are worth nothing.

e ACDB.

e BDAC.

e CDAB

e BADC.

Correct Answer :-BDAC.

Topic:- General Computer Knowledge
)
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Question Stimulus :-

What is the full form of EEPROM ?
EEPROM T 931 AT FAT
e Easily Erasable Programmable Read Only Memory./ éﬁ?ﬁ T GRIAT iz 3rmerely AT

e Electrically Erasable Programmable Read Only Memory./ $a{dcadel gtatadl NATAT {3 MTeTell
AAN

e Electronically Erasable Programmable Read Only Memory./ ﬁﬁ;’lﬁﬁh’ Folad GRImAT iz
ATeTell AR

e Electrically Erasable Program Record Only Memory./ $afdcdhdl stolael N1IATH Rep18 37Tl AR

Correct Answer :-Electrically Erasable Programmable Read Only Memory./ Eﬂﬁw g GRITAT
{3 el AA

2)
Question Stimulus :-

Every computer on the internet is identified by its

FEAT W T HOIE A EaRT 9§ T FI §
e Scanner./ e
e Mother board./ #AEI dIS
e IP Address./ 3E. o). vs@
e Control Unit./ EI@RI’ II:EIE
Correct Answer :-IP Address./ 3T$. 9. Tsq

3)
Question Stimulus :-

The data recording format in most of the modern magnetic tape is
amyfas Avafes Ta A Flor @1 s1er RS wrfe §2

e 7-bit ASCII.
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e 7-bit EBCDIC

e 8-bit ASCII

e 8-bit EBCDIC
Correct Answer :-8-bit EBCDIC
4)
Question Stimulus :-

How many generations are there in computers?
FFgeT H frastt At & qefiea A o wwar 82
° 2
3
e 5
o 4
Correct Answer :-5
3)
Question Stimulus :-

is an input device which inputs sound that is then stored in digital form.

9% 3IYC RBarsw ¥ It fF eafy go7qe &1 Rived w7 § sisR Far ¥

Speaker./ Tf&HT

Track ball./ & STl

Microphone./ ATSHI®IT

Light pen./ dTgc LC}

Correct Answer :-Microphone./ ATSHIBIT
6)
Question Stimulus :-

Which of the following unit is responsible for controlling the transfer of data and instructions among other
units of a computer?
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frafaf@a s it , I & Fogex A 37 sFEA & a9 3o AR Ady F gEareror w® HEha

A & AT PFAER § 2
e ALU
e CU
« MU
e LU
Correct Answer :-CU
7)
Question Stimulus :-

What is Access time in computer?
FFCY TFAH A FAT 52
e Seek time + latency time./
AT + faeear @og Sy qeirer
e Only Seek time/ Fael THT HT TaATA
 Only Latency time /&del Resaraa g
o Execution time + seek time/fASUTEsT ¥AT + AT F¥ Temer

Correct Answer :-Seek time + latency time./ HY + [Aeiadr GHT H TaTer
8)
Question Stimulus :-

is a functional key used to display ‘save as’ box.

AT -U I FI FEea F: & faw Tt 3TN fRaT SITeT 82
¢ F10
« F12
¢ F9
« Fl1

Correct Answer :-F12
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9)

Question Stimulus :-

In MS Excel, by default the number are Aligned.
TH TH TRAA # , Bwiee ®7 & Fa NS FIIRRE |
e Left/ d¥C
e Right/ <
o Justified/ TEEHTFS
o Center/ X

Correct Answer :-Right/ {T§C

10)
Question Stimulus :-

In M.S. Word, what is the use of “Alt + Shift + d”?

UH TH g5 & “Alt + Shift + d” IIIT FAT?

Inserts a table./esel &Y Sﬂé AT

Inserts date./ sﬂé 3T

Inserts the logo./ Sﬂ% i

Inserts picture./
3¢ RaR
Correct Answer :-Inserts date./ $H¢ 3¢

11)
Question Stimulus :-

A byte represents a group of
TF d13C & Us g 1 Yfafafted 872

e 10 bits/10 fae
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e 5bits/5 faT

e 8 bits/8 faT

e 4 bits/4 fae
Correct Answer :-8 bits/8 e
12)

Question Stimulus :-

Which shortcut key is used to minimize current workbook?

FleT W aréwe A Fie &g Ft AAAET F & forw s9zier Hr e §

o Ctrl+F10

o Ctrl+F9

o Ctrl+F12

e Ctrl+F3
Correct Answer :-Ctrl + F9
13)
Question Stimulus :-

What is of the following network device is used to join two network segments together?
fArafaf@a Aecas Bagw & e @1y & dead a4 # afAe w0 & fow waer frar Basa Far?
e Bridge/ f3sr
e Repeater /R
e Firewall/SRITATel
e Bus/dH
Correct Answer :-Bridge/ fast

14)
Question Stimulus :-

Which layer offers peer-to-peer and end-to-end connection between two processes on remote hosts?
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ar TR F i ReAle gve W e d@ o e € fawsiit vos € wos Faeere a8
e Application layer/Tqelihere aax
e Data Link layer/ SICT % I
e Transport layer/ mﬂé’ CELd
e Physical Layer/fhfoi&e aax
Correct Answer :-Transport layer/ SRAINE AT

15)
Question Stimulus :-

Which memory is faster than main memory?

Fla @ AN e AR ISR
e Secondary memory/ §%us{l AA
e Cache memory/ T AA

e Both (a) and (b)/ @ (a) 3R (b)
e Neither (a) nor (b) /o (a) 3T o (b)
Correct Answer :-Cache memory/ e HARY

Topic:- Reasoning

)

Question Stimulus :-

In the given question, two words are given such that they have a relation to each other followed by
four lettered pair of words. Select the lettered pair that has the same relationship as the original

pair of words.

Treason : Traitor

ferdr g et 3 2 areq 30 X W o gU § 9% 313 39w A $o Wy §1 90 G ersal AN oA
fodr o §1 X 2req gaw AT FTH 9t wa g A A oeg eA H B

SRIGIE : qRIGIR
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e Islam : Muslim / SEATH : ﬂ'ﬁﬂﬂ'
e Crime : Criminal / 3T9RT¢r : 3T9RTel
e Jailor : Jail / dRIYTel: HRIATH
e Renegade : Religion / faearaardt : 4t
Correct Answer :-Crime : Criminal / 3797T¢T : 3TORmel

2)
Question Stimulus :-
Identify the next term in the given series by understanding the pattern of the series.

3,9,21, 39, 63, 93, ?

QY g% AN & A FN FAART 3T IF TEAAL
3,9, 21, 39, 63, 93, ?
e 119
e 103
e 129
e 121
Correct Answer :-129
3)
Question Stimulus :-
What will come next in the following series?

B,D,G,K,P,?

Arafaf@a 3re) Ao A 3ETaT W& FAT e
B,D,G,K,P,?

e T
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e V

e S

e R
Correct Answer :-V
4)
Question Stimulus :-

In a certain code BREAKER is written as DPGBMCT. How is MOTHERS written in that code
language?

et e smor & BREAKER %! DPGBMCT far@r Siar 1 3W % si1 & MOTHERS &1 &1
o s 2

OMVIGPU

UPGIVLO

SRETHOM

OMVIUPG

Correct Answer :-OMVIGPU
5)
Question Stimulus :-

In a certain code, SEND is written as 2%*@ and DREAM is written as @ $ % # S how is MADE
written in that code?

frelt F smar F SEND #1 2%+@ fa@a § 3k DREAM 1 @$%#5 fawa g1 3 % smwr &
MADE & & farg)

. SH@%

* @$%S5

o 5%#@

° 2@%$
Correct Answer :-5#@ %
6)

Question Stimulus :-
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Study the following arrangement and answer the question given below:
ZH2@SUL47%N3KT#1F9

Out of the given 4 options 3 are alike in a certain way based on their position in the given
arrangement and so form a group. Which is the one that does not belong to the group?

frrafaf@a saavar #1 waur gde sregaer w3 3R AT e 3 vea w1 3caw 3
ZH2@SUL47%N3KT#1F9

fordr 1 4 Rashedi A & 3 &t g cwarun A el Ry 0 & Tt § 3R 59 e v wopg 9§l
FleT AT 0F AT 30 THF A A E?

o K#7
e T1%
o U42
e NKL
Correct Answer :-U42
7
Question Stimulus :-
S tudy the following arrangement and answer the question given below:
ZH2@SUL47%N3KT#1F4

How many such numbers are there in the arrangement which have symbols either immediately
preceding it or following it?

frrafaf@a caawar #1 wraureh (@ sregaer #1 3 AR e T weaq w1 3eav &
ZH2@SUL47%N3KT#1F4
sgaeyT 7 fraer O 31w & e i 9ga 91 i a1e 6 82

.2

3

. 1
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e None of these / SIH & HI$ A&
Correct Answer :-3
8)
Question Stimulus :-
S tudy the following arrangement and answer the question given below:
ZH2@SUL47% N3KT#1F4

Which of the following is the sixth to the left of eleventh from the right end?

Pl saavyr 1 Araur @@ sreads F3 3R AT e 1= gea 71 seaw |

ZH2@SUL47% N3KT#1F4

fArafaf@d & @ wia a7 31 31X F 7TIRES & 918 AW Toarg?
. 4
)
« H
e T
Correct Answer :-H
9)
Question Stimulus :-

Study the following arrangement and answer the question given below:

ZH2@SUL47% N3KT#1F4

How many such symbols are present in the arrangement which are immediately preceded by a

number?

el caaeyr #1 arauE (@@ sreaas w3 3R T R a2 92 F1 3eaw &

ZH2@SUL47%N3KT#1F4
AT A W Faa gFd § s [T 97 F I3F g
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o 2

o 1

e 3

e None of these / 3R ¥ E A&
Correct Answer :-2
10)
Question Stimulus :-

R is sister of S. S is brother of T.T is son of U. How is U related to R?

R, S 1 98T 1 S,T &1 &€ §1 T, U &7 97 §1 U ST R & F7 feam &2

Son/9d
-]

Daughter/‘fﬁ'

Mother or Father/ ATAT IT 4T

Cousin/ &

Correct Answer :-Mother or Father/ ATAT a1 ar

11)
Question Stimulus :-

In the question below, there are two statements followed by conclusions numbered L, I1, III and IV.
You have to take the given statements to be true even if they seem to be at variance with commonly
known facts and then decide which of the given conclusions logically follow(s) from the given
statements.

1. Statements:

(A) All trees are sharks.

(B) All sharks are balloons.
Conclusions:

I. All sharks are balloons.

II. All balloons are trees.
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III. Some trees are balloons.

IV. No tree is a balloon.

M RAMA T FANRBaAFIFE iR zaF I L I, 11 3R 1V fsws R 3 &1 3musr &
AT FUAT F T ATAT &, HA ' § FIATT a241 A e 81| Toft sy afed vy aa AT Hir
FleT AT T 4T I FHYUAT T AT FIT

FY:
(A) Tt 93 o €
(B) Y e T[san §
s
I et s aean B
1. gt e 93 ¢
. F& 93 aR ¢

IV. &8 93 JEarT 781 ¢

Only I & III follows/ &aer I 31X 111 37THI0T HTT 1

Only II & 111 follow/ &ael 11 31X 111 3[HTOT FTT

Only either I or III follows / &del T AY I AT 111 HeJHIUT AT gl

None of I, IL, I1T and IV follows/ =T & L, IL, III 3 IV & & S 31e]aI0T FIT ¢

Correct Answer :-Only I & III follows/ &ael I s HHIOT T gl

12)
Question Stimulus :-

In the question below, there are two statements followed by conclusions numbered L, I1, IIT and IV.

You have to take the given statements to be true even if they seem to be at variance with commonly

known facts and then decide which of the given conclusions logically follow(s) from the given
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statements.

Statements:
(A) All google are cameras.
(B) Some cameras are watches.
Conclusions:
I. Some cameras are google.
II. No cameras is a google.
III. Some watches are google.

IV. All watches are google.

AR RI IR NAFAINRBFITE R ITF L I, LI 3R IV Aswy = a3 &) smuer &3
AT FYAT P T ATAAT 8, ol &1 T FaATd a1 & et gf 1 wsi fAswy gfed fve aa ffFw i
PleT |1 T% 4T 71 Fo=l T 30T FIT R

HYUA:
(A) Wit aparer Sy
(B) F& HAY it {|
fee:
L FoHFM I
L. S FFRT I 8 8
1. F& af3i aere 2|
v.  usft af3ar aEre 3
e Only I and III follows/ &ael I 31X 111 3=[HROT FIT

e Either I or II follows/ Iray 1 AT II W CIGI %’I
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o Either III or IV follows/ T aY 111 AT IV HJHIUT AT gl
e Only I follows/ #del I 3[EIOT FIT Bl

Correct Answer :-Only I follows/ &ael I HTEIOT HTAT gl

13)
Question Stimulus :-

In the question below, there are two statements followed by conclusions numbered L, I1, III and IV.
You have to take the given statements to be true even if they seem to be at variance with commonly
known facts and then decide which of the given conclusions logically follow(s) from the given
statements.

Statements:

(A) Some girls are bangles.

(B) Some bangles are pillows.
Conclusions:

I. Some bangles are girls.

II. Some pillows are girls.

III. Some girls are not pillows.

IV. All pillows are girls.

A RA A NRAA N FUFT IR ITF IEL I, 1 3R 1V swmd 3 13 &1 39 R a1 Foat Y
AT ATAAT §, 5T g1 d FaATaT azat § B gh| wsiht sy oy fey g Hifcre Hi e 33 wa=t
FT aF I T § ITEOT AT o

FqT
(A) Fo wsfHar 9f3ar 81
(B) F& qf2aiafsA gl
fasa:
I Fo gt asteai §
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1. F&afFd asfHar g
1. F& asfrar afeai adi g
Iv. g3t afed asfrar &

Only I follow/ Fde I 37e[HIUT &Il ¥l

Either II or III follows/ IT @Y IT AT 111 W CXGIE %I .

Only either I or III follows. &der AT AT I AT 111 HHIOT T gl

Only I & II follow / &aef I 31 11 3=]HTOT FIaT 8

Correct Answer :-Only I follow/ de I 80T FIaT gl

14)
Question Stimulus :-

Suresh, a 7 year old kid, loves writing numbers. One day he sat down to write numbers from 1 to
100. How many times did he write 7?

U 7 I ST U F FEAT FAG1 16E §1 0 oot 98 1 100 T iy T forwe dor ar
38+ 31 7 fFast IR forar gem?

e 11

e 18

e 20

e 21
Correct Answer :-20
15)
Question Stimulus :-
An apartment has six floors, referred to as floors 1 to 6 with 1 being the lowest and 6 being the
highest. Six friends Lakhan, Manoj, Nandu, Ojas, Pankaj and Qatar occupy the six floors, not
necessarily in the same order, with only one person living on one floor. Find below some additional
information on their stay in the apartment.

(i) Nandu is same number of floors apart from Manoj as Manoj is from Lakhan.

(i) Pankaj and Qatar are not on adjacent floors.
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(iii) Qatar is on a higher floor than Ojas.
(iv) Lakhan is on the floor 5.

Which of the following must be true, if Nandu is on floor 1?

TFHTAA 1 ¥ 6 dF 6 dT & Fad ¥ 1 G forwar 31 6 6@ 398 g &1 6 S @, AA,
g, 3T, Tahet 3R FAR §7 6 Tall W IEd &, TS 781 7 T FA A WA &V 0F dd WUH @
qfFa @1 ¢ 37 fovare % IR A o sfaRea S frafaf@a -

() I gT @ ¥ AT W@ 8, 3T 81 T HaAlor § g @1 ol

(i) T I FAR FANAR Tl WA WA 81

(i) FAR, NTH @ 59 dd W @A ¢

(iv) G o HHATH 5 WIgaT gl

I3 7ig a« FATF 1| W@ 8, A ARRd F ¥ @ RRaa o d ad @
e Lakhan and Pankaj are on adjacent floors./ @I 3 Y& IR dell 9T g1
e Manoj and Pankaj are on adjacent floors./ HATST AT Yehol SAIMAR el 9T §
e Ojas is on a floor higher than floor 2./ NS d FATH 2 § 3918 W
¢ Qatar is on a floor higher than floor 3 /Waamsﬁjméw%l

Correct Answer :-Qatar is on a floor higher than floor 3 / R del HATH 3 W FAE WEI

Topic:- Environmental Science

1)
Question Stimulus :-

What is meant by Pisciculture is?
FACET TTeleT FT 82
e The professional growing of trees/JNaT T A ﬁ?f $r @At FIAT

e The professional growing of silver/day T ¥ TTET TATT
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e The professional growing of fish/IaT TT A AS N YTeleT AT

e The professional growing of silk/dAaY T & fAew Fr @Y Hw=T
Correct Answer :-The professional growing of fish/IaT T & HS el YTeleT AT
2)
Question Stimulus :-

Term ‘ecology’ was coined by?
qIRFEUaer ereg & Ta=T fhaet & Y2
* Aristotle/ 3IT¥
e Ernst Haeckel/ 3/si¥€ ghel
e Eugene P. Odum/ ﬂEﬁH’ . 3sH
¢ A.G. Tansley/ TSI, &=ge
Correct Answer :-Ernst Haeckel/ 3¥C ghel

3)
Question Stimulus :-

Which among the following is different from other three.
gt @ o AT A QT 7
e Coal/HrIdT
e Wind/gdl
e Water/qTsil
e Solar/AR
Correct Answer :-Coal/&®IaT
4)
Question Stimulus :-

The concept of ‘Biosphere Reserve’ was evolved by?
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‘Sassa Rad Y srquron fFaa @wfaa Hr
¢ Government of India/ A A{PR
« UNESCO/ &
e Zoological Survey of India/ R qroft FEayor
e UNDP/ Juasidt
Correct Answer :~-UNESCO/ Ja¥a®!
3)

Question Stimulus :-

The process of releasing fixed nitrogen back to molecular nitrogen is called?

nfOaw Ao & Agd Ageiaa & T & Relier w3 & ufsham &1 41 Fgr Sar 8?2
Nitrogen-fixation/ H@Eﬂ-ﬁﬂ'ﬂ?{
Denitrification/ 3foergfhahareT

Nitrification/ sTgEIFaareT
Assimilation/ TTAfALwT

Correct Answer :-Denitrification/ 3faer$ e
6)
Question Stimulus :-

The problems for criticism about large dams are that they.

ferer arel & TR H ITATAT N FATAC Ig & F

(1) Displace large number of peasants and trebles without proper rehabilitation.

mﬁmﬁagﬁh#a@aﬁﬁwﬁmsﬁ?mmmmmﬁmm%

(2) Swallow up huge amounts of public money without the generation of proportionate benefits.
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a@mmﬁa&rm*ﬁmmm@ﬁrmﬁmwmmﬁmm
g

(3) Don’t contribute enormously to deforestation and the loss of biological diversity.

o9 AR 31 Y Ferd 3R AT AT & T Fard TR ) Qe ¢ far srar ¥
e Both (2) and (3)
e Both (1) and (2)
e Both (1) and (3)
* (1) (2) and (3)
Correct Answer :-(1) (2) and (3)
7
Question Stimulus :-

A variety of different bacteria and yeasts live on human skin. Together they are considered to be
a/an?

agd YR & Shary aur RAY] AT = W & §1 3¢ T T F A0

Ecosystem./ qTRTEIfAT d

Population./ 3TETET

e Community/ HHSTH

Trophic level/ 9iffewdar Fax

Correct Answer :-Community/ HHeTH
8)
Question Stimulus :-

The 'fine respiratory particles' which deteriorate air quality of a breathing for human beings are
categorized as?

H&H qHAT FHOP S ATTd @HA g 4T T I0Tedl I FMAPRS AT ¢, Io¢ vy &7 A Aofiag Fhar
ST 82

e PM 0.0
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e PM 2.5

e PM 8.5

e PM 10.0
Correct Answer :-PM 2.5
9)
Question Stimulus :-

As per Central Pollution Control Board Bhopal what is the noise standard limit during day and
night time in residential area?

et F e, e &8 7 R 3k va & g7 ¥ it ok aes dem =
e 75and 70 dB
e 65and55dB
e 55and 45 dB
e 50 and 40 dB

Correct Answer :-55 and 45 dB

10)
Question Stimulus :-

Tritium is a radioactive isotope of which element?

e feaw v aca #1 IBAviFeT angaeT §2
Thorium/ARIH

Uranium/ NfoTs

Hydrogen/gIgarstel

Carbon/&TaeT

Correct Answer :-Hydrogen/gTg31oTel

11)
Question Stimulus :-
National Institute of Disaster management is located at?

http://localhost:61852/ 49/85



10/19/2015 localhost:61852

TSER HTIST YT HEYTA gl Ud §?

Pune/ qOY
)

Midnapur/ ﬁﬂﬂTﬂT

New Delhi/ 75 f&eelt

Kolkata/ ShTerehTdT

Correct Answer :-New Delhi/ 75 f&eell

12)
Question Stimulus :-

International Tsunami Information Centre is situated in.
HATSET FATHT Fogs Fgl (o0 87
Honolulu/ﬁm

NS

Chennai/d+1s
New york/F{!IW

Nagasaki/sTTITHTehT
Correct Answer :-Honolulu/?l?l’l?-l‘\?:l;
13)

Question Stimulus :-

Diameter of earth’s equator is?
gedl AT SETEITT T AT et §:
e 12,754km/ 12,754 f5. 4.
e 13,502km/13,502 ..
o 12,704km/12,704 5. # Y.
e 12,570km/12,570 fo5. Y.

Correct Answer :-12,754km/ 12,754 f&.#Y.
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14)
Question Stimulus :-

Ozone day is observed on:
NS RTH F AT 1T B
e January 03/03 STeTadl
e March 26/26 AT
e November 10/10 sIdF€{
o September 16/16 fRAdFaT

Correct Answer :-September 16/16 f&d#ax

15)
Question Stimulus :-

A study of the accident at the Chernobyl nuclear power plant in the Ukraine and of severe air
pollution in Mexico would lead to the conclusion that.

THe A AN TAT] ST I A §E U1 a1 AfFaent 7 73R a1 9y & Ireqda § it
aRoms e o wFa §

e technology can cause problems throughout the world/
T gfera 3 et & TETE g weeh §
e international trade is more profitable than domestic commerce/
e ATOST Y Jorat H AT AR 38 wmererae g 8
e modern science cannot solve most political problems/
ryfa e garT siftrier Terafas waenst w1 qaTee ad fhar o ghar g
e agricultural nations have caused major world environmental problems/
FTY et g@rT gforam 7 ¥ wiaRoi FAEAT dar Y §

Correct Answer :-technology can cause problems throughout the world/ q‘\ﬁ gﬁ'ﬂT H doeile § GATIIT
g asd §
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16)
Question Stimulus :-

‘Kattas’ is the ancient method of water harvesting found in which place.
Sl gageT P [l A <zt Fgi 9 Srar g

e Himachal Pradesh/%m?-l?-l' geer

o Karnataka/ ellcsh

e Tamil Nadw/df&e =15

e Madhya Pradesh/feT 9&er
Correct Answer :-Karnataka/ FaTes

17)
Question Stimulus :-

The method of rainwater harvesting which can be adopted by individual house owners is?

a9t orer g @ faftr ford saferaera aRart gar srvera s gwvar €, a8 RafeR@a A a sla @ e
e Construction of recharge trenches/Rarst E‘s’l’ &1 faaATor
e On-channel storage of water/dTeil T Hg-AeTel TSR
e Harvesting new water channel/sT¥ STl derell Y FUIT
e Roof-top rainwater harvesting/3™% <19 a7 STl §ageT
Correct Answer :-Roof-top rainwater harvesting/® % 19 99T el AT

18)
Question Stimulus :-

Fuel cost is zero in which kind of energy?
o1t & AT 39T A P gFR A FAT FH e @ &
e Wind energy/ddel FolT

o Coal energy/ITe  3cee Y SATel ATl St
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* Nuclear Energy/q{HT] FaT
e Tidal energy/ ST ST

Correct Answer :-Wind energy/9asT FaiT

19)
Question Stimulus :-

Coal based thermal power plant works on which principal?
FIren menRe AT Rgge @4 A § & R Rgea ) arafa §

Modified Rankin Cycle/FNd IAHIST T

Threshold frequency/aies fhaadl

Gibbs free energy/fsad Hr FAT

Entropy/Tserdt

Correct Answer :-Modified Rankin Cycle/FeNf&d w8 I

20)
Question Stimulus :-

Most recently, India joined the tidal power wave with the approval of a commercial-scale tidal
power plant in-

373t grer Y o, R ERT et W ATOSTs Fa¥ SaR #1er Regd @47 & IqAeeT & A1 ST H1eT avar 7
HINEIRY &Y 71§ §2

Gulf of Kutch/#es &Y @1t

Gulf of Cambay/a-»'ﬁ $r @rar

Sundarbans Delta/ﬁ;m?l' gl

Gulf of Rann/ T0T &Y @13t |

Correct Answer :-Gulf of Kutch/&#ea &Y @1t

21)

Question Stimulus :-
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A chemical reaction triggered by transforms organic material into hydrocarbons.

ZaT g1 arelt T fae gfafsar qanr sifas anrefht # g 7 aRafda R srar g
solar energyRﬂT Sl

hydroelectric/deT fasrely

elevated temperatures/ﬁ'aﬁ?-r dT9HATT
e decomposition/3T9Y T

Correct Answer :-elevated temperatures/Faftid arqaTeT

22)
Question Stimulus :-

Energy resources derived from natural organic materials is called ?

wifas stfas amaAfat & wrea fFe ST arer ST ial ) 341 FgT AT 82

Geothermal energy sources/ﬂi;?l’l‘tﬁq FaAT A
Fossil fuels/Siamesd §ereT

Biomass/aTATH

None of the above/390Fd H & HS 7S

Correct Answer :-Fossil fuels/SiIares §eret

23)
Question Stimulus :-

Which of the following rock types would most likely be the best oil reservoir?

god @ TP TR Y T2 A IS O HER @ Y Faiftis THIE=T il &2
e granite/A<IZC
o shale/d
o sandstone/AsERNeT

e salt/dTecC
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Correct Answer :-sandstone/ds€alT

24)
Question Stimulus :-

The world has the least amount of which of the following fuel types?
gferan 7 frarfaf@a Suer el 7 @ fFw |ia & freme s &:
oila«

Coal/dIeT

Uramum/zl‘:l'ﬁ'qﬂ'

e There are roughly equal amounts of each of these fuels/
sitaa o1 Tt gu= Y AT AT Y
Correct Answer :-Oil/de

25)
Question Stimulus :-

Given below are some statements:

A. About 60% of human body is water

AT AL F FITHT 60% I T &

B. About 96% of total fluoride in human body is found in bones and teeth.

ATTT IR H Fel FoUIs3H H F AT 96% Fe[U3s g3341 3 il & arar sran @
C. Most adults consume about 1 to 3 mg of fluoride daily

rftrTer aIEHT g@RT FTeeT 1 ¥ 3 .. Forss w1 e 39T v Srar @

D. Soft water usually contains 10 ppm fluoride and hard water contains no fluoride.
#g STl # AR T 10 Nfrea Foyrss giar § 3 81 aret # F1 Feuss ¢ @ &
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Of these the correct statements are?
$oIH W P FleT T Fuar TEE?

e A,Band D/A,B 3D

e A,Band C/A, B3R C

e B,Cand D/B, C 3R D

e A,B,CandD/A, B, C 3R D
Correct Answer :-A, B and C/A, B 3T C
26)

Question Stimulus :-

The percentage of total world’s precipitation, lost to the atmosphere through evaporation, is
approximately?

gferam & et ador &1 gfererd St i arsdisior & argAse A ave @ Srar @, a§ w9 fhde gferera @
e 57%
e 7%
e 37%
° 43%
Correct Answer :-57%
27)
Question Stimulus :-

In the northern hemisphere, the prevailing wind direction in the latitudes between 0 and 30
degrees is expected to be:

Sl aare 7, 0/ 30 Bt & ofrer sravreit & dier A FispET gav i yeAAT AT FAT AN Y WeTASAT 82
e North/3cd¥
. North-east/BFIT-‘@‘

e North-west/3cd¥- qiTH
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. East/‘iﬁ‘

Correct Answer :-N orth-east/ﬁ?—q‘\ﬂ'
28)
Question Stimulus :-

The concept that ‘population tends to increase geometrically while food supply increases
arithmetically’ was put forward by

FAFEAT H SAHTT T & i g Ferraanr 3R @reg Irqfed A el At wr d ey A
YR fhaad garT gfaarfed @ a1$ dY?

Adam Smith/UsH f&AY

Charles Darwin/ATed sRQ=T

Thomas Malthus/JTHT HAeqq

Stuart Mill/Fg3r¢ fArer

Correct Answer :-Thomas Malthus/JTHE Aeqd

29)
Question Stimulus :-

The main constituent of LPG is?

TSl T HET WIS AT giaT 82

Liquid methane/ a3 YT

Liquid butane/ d3el g?.?l'

Liquid hydrogen/ a3 gigg1eiel

Liquid ethane./ a3 §4s7

Correct Answer :-Liquid butane/ Tel §&oT

30)
Question Stimulus :-
Nitrogen fixation is accomplished by?
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ATSEroreT U FIoT fahads ganT 1 v i 82

Bacteria in the atmosphere/ dTdTdIoT J EﬁﬁTUI

Bacteria in the soil/ fAZY & dFORET

Plants/ 9ier

e Fungi/ dsh
Correct Answer :-Bacteria in the soil/ A2 & dFORar

31)
Question Stimulus :-

In 1974, people of Garhwal started Chipko Movement under the leadership of _?
1974 7 Trgater & AN & fFwd Agea ® Rray neiere g« fmar ar

e Sunderlal Bahugunaw H?IUTI'

e MedhaPatkar/AHT 9T¢HT

e Ministry of environment and forest/qaTaRor 3 a1 HATTT

e State biodiversity boardATs¥ atg fafdyar a1

Correct Answer :-Sunderlal Bahuguna/'{l;mﬂ' sgaom

32)
Question Stimulus :-

What is Silent Spring?

ATelee 9T #4182

A book/Tsh W
e A movie on nature/?ﬁjf?l’ et fRheH
A river/sdY

An estuary/ear ik

Correct Answer :-A book/Te&h qEds
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33)
Question Stimulus :-

In India the Environment Protection Act (1981) consists of ?
HRA H gaTaRor HET0T HfATATH 1981 & dead Fraa 4RI a2
e 2 Chapters/2 TR
¢ 4 Chapters/4 4RI
e 8 Chapters/8 TR
e 7 Chapters/ TR

Correct Answer :-4 Chapters/4 TR

34)
Question Stimulus :-

The first of the major environmental protection act to be promulgated in India was _

HRT H T Bt aTelT TUH Fo7@ qatavoiar aator srfafaas i ar ar

Water Act/sTol 3fafaasr

Air Act/ a1g sfafaaa
e Environmental Act/tRfﬁTUT EIDICEr

Noise Pollution Rule/2R yg¥or fazar
Correct Answer :-Water Act/sTol rffaas

35)
Question Stimulus :-

In India The Water Act contains ?
oo AT & fras R anfAer & 2
o 4 Chapters/4 eI

e 5 Chapters/5 37&q T
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e 7 Chapters/7 3reqA
e 8 Chapters/8 37&q T
Correct Answer :-8 Chapters/8 3TeIJTJ

36)
Question Stimulus :-

Pollination by Birds is known as
gf@raT gaRT 9RETOT FY FAT FEed 82
e Autogamy / ¥q-fasweT
e Entomophilly / veiHifFeelt
e Ornithophilly / 3nfaaifree
e Marmacophilly / AH®realt
Correct Answer :-Ornithophilly / 3ifeeifeee

37)
Question Stimulus :-

Wild life protection act was implemented in which year ?

g S1q W&ToT rfefaas i e o fFar o ar
e 1995
e 1992
e 1972
e 1981
Correct Answer :-1972
38)
Question Stimulus :-
Kaveri water dispute is between:
HIA I are Fas ST & §:

http://localhost:61852/ 60/85



10/19/2015 localhost:61852

e India and Pakistan/$TRd 3 wifeaa
e Punjab and Haryana/tiﬁl'la' sk gRamom
e Uttar Pradesh and Madhya Pradesh/3ccd¥ geer 3 Jeq gyaer
e Karnataka and Tamil Nadw/&viies® A afder g
Correct Answer :-Karnataka and Tamil Nadu/&viTe® 3T afder g

39)
Question Stimulus :-

National Environment Tribunal Act was introduced by government of India in

it ¥ T H HRA T ISR A AT GATII0T ~JrATaaIor Ifefagsr der 3 srar ar?
e 1992
e 1995
e 1981
e 1972
Correct Answer :-1995
40)
Question Stimulus :-

In 1974 which act was introduced ?
1974 7 et @ Jrfafoas yeqa frar o

* Air pollution act/drg YqyoT sfeafags

e Water pollution act/STel 9gNOT sfafas

e Biomedical waste management/ﬁﬂ' fRafercar srafarse yaeueT

e National Environment tribunal A ct/ITS¢rT gataRor Jrfaeor srfafags
Correct Answer :-Water pollution act/STel YgyOT 3ferfarasr

41)

Question Stimulus :-
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In the Water Act the entire National Capital Territory of Delhi has been declared as water
pollution prevention control area under:

srer siferferaer &, Iedr TreruTedt &t oo Y e «RT F srceta srer gqwor YFUnT faRp=or &7 F w0 7
e R I §:

Section 21/¢TRT 21

Section 23/4RT 23

Section 19/¢TRT 19

Section 24/¢TIRT 24

Correct Answer :-Section 19/¢4TRT 19
42)
Question Stimulus :-

The power to declare an area as a sanctuary or national park of central Government Wildlife
(Protection) Act is under:

foralY 819 Y Fdl T THER GaRT e HIIRVY AT ASEIT 3T ¥ FA A1 AfFa 37 s (aaon)
srfafaraer i frg amr & sraeta el 8:

Section 38/¢TRT 38

Section 39/¢TIRT 39

Section 18/¢TRT 18

Section 27/4TIRT 27

Correct Answer :-Section 38/¢TRT 38

43)
Question Stimulus :-

The provisions of environmental protection in the constitution were made under which act?
HfAUTeT & et TATaRor HIATOT & 39wt F fFd Ae[edg & et IoraT AT AT
o Article 5-A/ ARG 5-A

e Article 21-B/ 375]<8¢ 21-B
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o Article 27-B (h)/ 37]=9% 27- B(h)

e Article 48-A and Article 51-A (g)/

ITTRE 48-A IR DT 51-A (g)
Correct Answer :-Article 48-A and Article 51-A (g)/ 3158 48-A 31 38 51-A (g)

44)
Question Stimulus :-

The Wildlife (Protection) Act contains
T g (EaTon) Irfafaas & fRraer o §

66 Sections /66 STRTT

6 Sections/6 &TRTT

7 Sections/7 &TRTT

46 Sections /46 TTRTT

Correct Answer :-66 Sections /66 €TRTT

45)
Question Stimulus :-

which is an example of fossil fuel?
S8 U FIT S a1RHA eIeT FT 36TEI0T &2
o coal/®IeT
e methane /AT
e natural gas/ FI'ITﬁFF it
e All the above/3URiad Tsft

Correct Answer :-All the above/39ed AT

46)

Question Stimulus :-
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In India which type of forest is there ?
HRA # 58 IR & aa §72

e Temperate/2fiarsor

o Tropicalmuﬁﬁﬁiﬁ?

e Tundra/ §§T

e Boreal/ 3EI=q
Correct Answer :-Tropical/3SuTsfeaeflr

47)
Question Stimulus :-

BTU is a measurement of which of the following?
Ny Rraeh 71T §

* Volume/dTegd

e Heat content/dTq &Y HATAT

o Area/81d

e Temperature/dT9HTT
Correct Answer :-Heat content/dTqd &Y HTAT

48)
Question Stimulus :-

The first controlled fission of an atom was carried out in Germany in which year.

forelt wTer 3 aRToy Ty e Rase sete & frar amar g

1920

1928

1925

1938
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Correct Answer :-1938
49)
Question Stimulus :-

Threshold effect is a level?

FeNes THTT THh FaT g1aT 872

Above which effect begins to occur/ fas 3UT THTT RFIT grdT %I

Below which effect begins to occur/ IEEECIER EICR IRC ] 31?” %’I

Which keeps the effect constant/SiT I37Td F TR T@aT ¢

Both (a) and (c)/ 31T (a) 31T (¢)

Correct Answer :-Above which effect begins to occur/ TSI TS IUT THTT TRFIT grdT gl

50)
Question Stimulus :-

In study of satellite imageries GIS stands for
Yearse AT H AT F FATAIA 1A &

Geographical Information System/ CIIGED HAT JoTTelY

Geographical Integrated System/ﬂﬁ?m%ﬁ? E’#ﬁ'ﬂcﬁ' JOTTel !

General Integrated System/dATHH t’ﬁiﬁ' YoTTell

Geological Integrated system / SETSﬁ'ﬂ' Wﬂiﬁ' YoTTell

Correct Answer :-Geographical Information System/ sitnfears =1 JUTTell

51)
Question Stimulus :-

Temperature range from -30°C to 30°C is character of

-30°C & 30°C & oY & ATIATeT Y 17 FhahY frehyar aardh @
e Tundra ecosystem/ EBT qiRfeufasr
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e Boreal ecosystem/@Raer qIiRfEyfasr
e Temperate ecosystem/2ffarsor qikfEufadr
e Desert ecosystemATEdTeT qrRfEUfashr

Correct Answer :-
52)
Question Stimulus :-

In ecological succession, grasses and shrubs forms:
aiRfRfahY sregsrar 3 & 3 enf3ar frasT FawT dRar Fcd @
e Pioneer species/ EpiR e
e Mature community/9RIFT gerfadr
e Intermediate stages/Aeqqd TI0T
e Climax/ 3c¥
Correct Answer :-Intermediate stages/HEIad! TIOT

53)
Question Stimulus :-

Lightening is related to?

faorelt & gHTa w1 ey fFEd §
o Fixation / FFa2uT
e Assimilation/Tf@#erers
e Conversion/ Fegole
e Production/3cqTgel
Correct Answer :-Fixation / fharaeret

54)

Question Stimulus :-
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The carbon cycle was initially discovered by?

URFHF dl 9T FTdeT Tk Y @i fFaeT & o6t

Joseph Priestley and Antoine Lavoisier/

IR RNEed TUT TaIT a5

e Joseph Priestley and Ernst Haeckel/

SAF e TAT I+ gohel

e Antoine Lavoisier and Ernst Haeckel/
TRt JAERT 3R e B
e A.G.Tansley/T.3\. &
Correct Answer :-Joseph Priestley and Antoine Lavoisier/ SAE e a1 vacIva aaﬁhw

55)
Question Stimulus :-

A fuel cell, in order to produce electricity, burns?

T FU HIRAFT, ATl a1 & fav Arafaf@a # @ fFaFT gereas s @
e Helium/ §ifgs
e Nitrogen/sITgcIoTal
e Hydrogen/gig3Ill
 Boron/ ¥R

Correct Answer :-Hydrogen/gTggIoTel

56)
Question Stimulus :-

The temperature difference between the upper layers and the deeper layers of the ocean should
be to install an OTEC power plant.

S Rega Fa7 FT TUTAT FI & fAT AFHRR F 38 e 3R 18 axall & g & argAreT F1 Haw
fereret e anfere?
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e 40°C

e 50°C

e 20°C

e 4.30°C
Correct Answer :-20 °C
57)
Question Stimulus :-

The study of very low temperature is called?
fAF=TaR A F eI I FAT Fad 87

e Heat transfer /FSHT HaIUT

e Morphology / 3TRIIRT

e Crystallography/ frTedtardY

o Cryogenics / IS TS
Correct Answer :-Cryogenics / HFISHATAE

58)
Question Stimulus :-

Habitats with usually high numbers of species are referred to as ?
HTHAGR UT 3T WE&AT A Y1fadl arer Farfaat 1 #41 w81 JAar g2

e heterogenous/ LD

. divergent/ﬁﬁiﬁ'

e biodiversity hotspots/ Stafafaerar ﬁﬁm

e multiform/ a§' ™Y

Correct Answer :-biodiversity hotspots/ Stafafaerar glesurca

59)
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Question Stimulus :-

Which of the following population divided into smaller groups by habitat fragmentation.
farafafaa 7 & fra seraear ) faar fwss garr sie w@9ag) 7 RFenfora fFar smare?
e source population/ ¥d STTHET
e Kkeystone population/ Y T STeraEar
e metapopulation/AETATTAAT
e sink populationm ‘:ITEI_?'QF{
Correct Answer :-metapopulation/AeTdTgelIe

60)
Question Stimulus :-

Endemic species are?

TS Yot Sl @ gt &2
Rare species/ fa%er gerfaar

Species localized in a specific region/
fanelt faflrse & & vurellasa yenfaan
Cosmopolitan in distribution/ faaIor H arasifas

Critically endangered species/
g 3TOF Gk A 3t arel yonfaar
Correct Answer :-Species localized in a specific region/ &Y faflrse & & Fﬂ'ﬁﬁ'ﬂiﬁ' LEG R

61)
Question Stimulus :-

Blue whale is placed under
sitell sgr 1 e iadia @A g
e endangered/ Wl
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e critically endangered/ag?l' s @ar
o rare/fAT
. extinct/ﬁ?:!:vcl'

Correct Answer :-endangered/ @dll

62)
Question Stimulus :-

The most important reason for decrease in biodiversity is ?
S fafarerar 3 weft &1 weiftre Agcaqor FROT FAT E?
e habitat pollution/ f¥ar e ggyor

e introduction of exotic species/

3reieft gty Y 92T FIET
o deforestation/asit #Y EIR'I%’
e habitat destruction/ frara F Ase fFAT SATAT
Correct Answer :-habitat destruction/ farT &Y s fFaT ST

63)
Question Stimulus :-

Which is the pioneer species in succession ?
HTHA A 30N yonfa Pl A

e Lichens/ fod+q

o Grass/¥¥

o Plankton/Sii&ele

e Microbes/ATSHIsH
Correct Answer :-Lichens/ fod=®

64)
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Question Stimulus :-

Red data book contains data of.
5 3¢ g+ & oy wau & ser enfAw g
e plant species/ 9T&T TATIaAT

* animal species/ 9] EENCRI

e economically significant species/
s & § Ageaqor yenfaar
o threatened species/ @dX £ ) LE R EIGEI
Correct Answer :-threatened species/ @dX & Iat gATfadT

65)
Question Stimulus :-

Genetic, species and ecosystem are types of ?
e Pool/ qeT
o Diversity/ fatrar
o Class/ @
o Desity/ Helcd

Correct Answer :-Diversity/ fafaerar

66)
Question Stimulus :-

The head quarters of IUCN (International Union for conservation of nature and natural resources)
is located at .

ST (FeXAUAS AT BR ForareT A A< TS Al Rawfon) Far fua 32
. Morges/ﬂﬁ'ﬂ'
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e Vienna/ fQuar

e New york/F{!lﬁT
e Paris/ARA
Correct Answer :-Morges/ A

67)
Question Stimulus :-

The deepest zone of the lakes are called as-

gl & T MY 817 F) FIT FgT AT 8

e Littoral zone/ forger a7

e Profoundly zone / Fﬂ'gv?ﬂ' aT

e Limnetic zone/faFafes &7

e Epilimnetic zone./ TRIfaHaRF a1
Correct Answer :-Profoundly zone / W§sel &1

68)
Question Stimulus :-
The formula for exponential population growth is?
favmies Sawear 3y FT Rl FT e
e dN/dt=rN/ dN/dt=rN
e dt/dN=rN/ dt/dN=rN
e dN/rN=dt/ dN/rN=dt
e rN/dN=dt/ rN/dN=dt
Correct Answer :-dN/dt=rN/ dN/dt=rN
69)
Question Stimulus :-

If human population is small, there is a greater chance of?
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AT FaaEaT o E Y AT  fhadhY wormae rfoe et &

gene flow/ SfisT 9aTg

genetic drift/ SfeT f3Fe

natural selection/ CITajﬁH-T Tl

mutation/ 3cTRddT

Correct Answer :-genetic drift/ SfieT f3Fe

70)
Question Stimulus :-

Two opposite forces operate in the growth and development of every population. One of them is
related to the ability to reproduce at a given rate. The force opposite to it is called

YeAF STaear F1 gig A B & fw a faadia ao w67 73 §) 3037 § el R o goa ) gt
&THAT ¥ AT 81T &1 58S 9T T F) 74T FgT AT 82

Fecundity/ 393 YeT

Mortality/5cq

Resistance/ Ifaer

Biotic potential/ Sifa& WaTeAAT

Correct Answer :-Biotic potential/ Stfae TTeTdT

71)
Question Stimulus :-

Nitrogen oxide and hydrocarbons released by automobiles interact to form?

qTE=IT GART ScHTSId ATSEIoT HTFATSS 3N FHSFTEH GaNT e fl@d # ¥ FT a1t & AU THF gav &
Ty 3T Yy ST 82

e Sulphur dioxide/ e STEHTFHISS
e Carbon monoxide/ FTeeT AAATFASS
o PAN/dITTS
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e Aerosols/TUATeH
Correct Answer :-PAN/dwTa

72)
Question Stimulus :-

The first Chloroflouro carbon was synthesized in which year ?

TEA FARIFAX FIaeT I Ha G AT arar am:

e 1892

e 1920

e 1980

e 1800
Correct Answer :-1892
73)
Question Stimulus :-

The Indian coal industry was nationalized in which year ?

HRART AT IGANT HT ASEAHIOT FHel fHAT 14T AT

early 1970s/ 1970s ¥ garer &

early 1950s/1950s & qaref

early 1990s/1990s & qaref 7

early 1980s/1980s & qaref 3
Correct Answer :-early 1970s/ 1970s & qaTef

74)
Question Stimulus :-

Bio-energy refers to the energy released when

e S Tt b1 et it & st € @ @ ¥

e inorganic carbon reacts with oxygen/
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I fE @ree smadster & Gy gfafFar s §

e organic carbon reacts with oxygen/

A Free T & gy yfafFar Fr e

e organic carbon reacts with hydrogen/

AT Fi FrEFIoTT & wiafar Fc §

e inorganic carbon reacts with hydrogen/

ISAF Fea gEsioe & yfafrar wact
Correct Answer :-organic carbon reacts with oxygen/ e Free sredIe & gy yfafear Fdt @

75)
Question Stimulus :-

Project Elephant was launched by Govt. of India in which year ?

R HIHR SaRT TRAISTET g1} AT YTIHTT Fa hr 75 A
e 1995
e 1992
e 1985
e 1987
Correct Answer :-1992
76)
Question Stimulus :-

Autoecology is?
JTerTTaTsl F1 Haer fFad §
e Study of multiple species or individual ecology/
el Fonferal A1 R U g 1 oA
e Study of groups of organisms/ Sat & HHE T ETIT

e Study of single species or individual ecology/
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Thol TSATTQAT AT Tehel TIRTEATAH &7 3reqa=T
o Study of to species./ TSTfaAT & JFEIAA|

Correct Answer :-Study of single species or individual ecology/ Tshel goTfaay AT vl IR TG AT &1
FEqgeT

77)
Question Stimulus :-

concept of carbon credit originated from which one of the following?
FTaeT HIST HT AU FFad & gielt 82

e Earth Summit, Rio de Janeiro/ ?T:‘T RrEw mﬂﬂ, Ay & a=a

¢ Kyoto Protocol/ FeY WiEIdhIe|

e Montreal Protocol/ Fﬁ'ﬁ}lﬂ' L IrACac)

¢ G-8 Summit, Hciligendamm/ G-8 RrEx gFaeT s'sﬁﬁ'ﬂa'nw
Correct Answer :-Kyoto Protocol/ 31T RIe1HIel |

78)
Question Stimulus :-

Any abiotic or biotic factor that restricts the numbers, reproduction, or distribution of organisms
is called.

Y TarfRe s a1 TRRE FRS ST HEIT, Yoiel=T AT &t & Favor & AT F3a1 &, 3 79T FaT AT &

Limiting factor/HfATdr FR&

Tolerant factor/'a'%cula'r HREP

Succession/IcadasT

Eutrophication change / g9Tor yRader
Correct Answer :-Limiting factor/@fAddr &

79)

Question Stimulus :-
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What is an estuary?
A F1 Q1T 8?2
e An ocean/ AGIATY
* A sea/HHg
e Zone between river and sea/ 7l 3 g FdTHFTAT
e Zone between two rivers/al aAfeAY & o= Fr %WT

Correct Answer :-Zone between river and sea/ 7dY 3iX qHd F T HFT AT
80)
Question Stimulus :-
What is meant by carrying capacity of a population?
AAHEAT ) g &TAAT &7 47 7Y g2
e the minimum number of individuals that die in a population /
cafFaat Y q Fwan G St R saEar § AT §
e the maximum number of individuals that die in a population/
cafFadl I a8 HFIH TEAT S Rt Teraear # A §
e the minimum number of individuals that can live in a population stably/
safFaal F1 a8 Fgan FEAT 3 FRar I Bl seeem A g wawa @
e the maximum number of individuals that can live in a population stably/
caf¥erat 1 ag Frere FEaT St RURET qde Rl sereEar i S @ awa &

Correct Answer :-the maximum number of individuals that can live in a population stably/ safFaal frag
o . SR c\i - . # hfa ® +¥

81)

Question Stimulus :-

Which of the following cycle is the slowest of the matter cycles?

i@ aaast & i a1 g% oA &2
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e Sulphur cycle/ §¢hI dsh
e Phosphorus cycle/STHBRYE TH
e Carbon cycle/ﬂﬂé’ﬂ' q%h
e Nitrogen cycle/ﬂﬁ@ﬁﬁl’ I
Correct Answer :-Phosphorus cycle/STRIBRY T

82)
Question Stimulus :-

A Keystone species is?
T IS YT it H g &
e Only numerically abundant/¥ae TEITcHS T F agel

e not numerically abundant/ R TEATHAF T E|§T*|'

e not keep a population diverse and thriving/
g S SrererE #1 Rt qof sk garfreer @ v ¥
o large biomass/ faerrer srYATH
Correct Answer :-not numerically abundant/ 3T HE&IATcH® T F HET*I'

83)
Question Stimulus :-

Micronutrients are those element which are ?

H&H 9NN Fed FAT I 82
e required in very small amounts/
Tt el gt S AT A el ¥
e required in very large amounts/
ForeTehY et ager gt o oF e &

e required in very large amounts and are necessary/
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gl T3 AT A TR § 3 e &
e required in very small amounts and are not necessary/
B AT # 39favT § AR e g §
Correct Answer :-required in very small amounts/ flsTehY ST Tgd BIA AN A G E

84)
Question Stimulus :-

The natural heritage of India was made famous in Rudyard Kipling’s
Tears fhfoeer 1 e qras & siRa & yrpfas e #1 fareara e arm o
e The Jungle Book/f& Siarer 9%
e The forest fire/f& PR¥E PR
e Heritage of Great India/%ﬁ%ﬁl’.‘!h e 3’%1“
e Bharat ek khoj/ $TRa &Y @lsT
Correct Answer :-The Jungle Book/f& SiaTer g

85)
Question Stimulus :-

Anthropogenic activities are

At afafaferat &1 ey e gard
e Man made activities/ATAaf A arfafafaaT
e Natural activitiesMIﬂjﬁl* afafafer
e Hazardous activities/@dIsTTe T TATAIT
e Natural calamities./ 91351%37 TIETT
Correct Answer :-Man made activities/ATAaAfAT rfafafear

86)
Question Stimulus :-
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Anthropogenic activities are.
Age e fafaftar Far gt &

Harmful to environment/93Ta0T & foT @at=TH

Part of development/ AR &1 fgear

Part of urbanization /Tg{IeoT T fETAT
All the above/39Rad W3t

Correct Answer :-All the above/39IFd Y

87)
Question Stimulus :-

According to Central Pollution Control Board, which is the least polluted river of India
AT TGUOT fAA=0T 12 & IHTAR AR H Fler A A& F Tad F7 N g &2

e Kaveri/ ®1all

o Narmada/#eT

e Godavari/ Meradt

* Yamuna/ T
Correct Answer :-Narmada/a#H&T

88)
Question Stimulus :-

The forest areas of the deltas of the Ganga and Brahmaputra in West Bengal are called
QRS ST H I3 3 FTEAGT & ST F T &3 Y FAT FgT AT 62

e Waestern ghats/qﬁ?ﬂ:ﬁ 121

e Eastern ghats/‘f@* 1211

o Hotspots/ﬁ?.?q@

e Sundarbans /ﬁmﬂ'
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Correct Answer :-Sundarbans /{l,m?r

89)
Question Stimulus :-

Artificial islands are an example of?

Fiaer gdia fraet semeor §

Agricultural land/ﬁjﬁ' ﬂ‘\ﬁ'

Waste disposal sites/3797rse faqersT Ter

Land reclamation/aigﬁrﬂ'

Grazing land/ IRTINE STHYT

Correct Answer :-Land reclamation/{f\'{fﬂﬂ

90)
Question Stimulus :-

The Tihri Dam is the tallest dam in India on the?

T T FaQ 737 g arer 5 7<) 9T 97ram 13 872

Bhagirathi River /$Tefiveft &7

Brahmaputra River/§ed#qd C

Narmada River/«T-I'ﬁ?.T adr
Godavari River/?ﬂa'laﬁ Flﬁ

Correct Answer :-Bhagirathi River /HTaNdY s1dt

91)
Question Stimulus :-

What type of energy is derived from heated groundwater?

g yoR # St I afgrer @ ot 7S B2
e Solar energy/?l’h’ﬁ‘f
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e Geothermal energy / S{HTCnTI' olT
e Hydroelectric energy/ qAfasrell FST
* Nuclear energy/ YIHTI] ot
Correct Answer :-Geothermal energy / 3{\61"1111' ST

92)
Question Stimulus :-

Periyar wildlife Sanctuary is in
IRAR 37 ST 3ARVT Fgi W YT &
o Kerala/®lel
e Madhya Pradesh/FeqT y&er
o Assam/3HHA
* Gujarat/I[s1d
Correct Answer :-Kerala/&3el

93)
Question Stimulus :-

Kanchenjunga is the highest peak in north east Indiaand __ ?
Ol Gl 3ca} g3 HRA 1 wad SN A § qur__ °

e 3rdin the world/faeg & dwY

o 4™ in the world/faeg & =i

e 10™ in the world/faeT & THd

o 8™ in the world/faea # 3mad
Correct Answer :-3rd in the world/f32d & dR

94)

Question Stimulus :-
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Teak and Sal are mainly the proud of which state
AT T § OF AR Al ¥ T # qgarad 718 o1l &
o Assam/3HH
e Himachal Pradesh/fRATaer gaer
* Gujarat/I[sd
e Madhya Pradesh/feT 9&2r
Correct Answer :-Madhya Pradesh/fAed 9gar

95)
Question Stimulus :-

Pachmarhi Biosphere Area is located in which state?
YorHd ST RAferdar &y P s A Rya 2

o Kerala/®lel

e Madhya Pradesh/feT 9&2r

o Assam/3THHA

* Gujarat/3[sTd
Correct Answer :-Madhya Pradesh/fAeq 9¢ar

96)
Question Stimulus :-

Ocean currents are determined by?

HETHRR T 4r13i & F41 i grar 2
e Proximity to land / 3{\@' #I fawedr s & faw
e Underwater geography/ QTefl & sfi=r &T sfaner
e Atmospheric circulation / 31?,113?-‘111' gREEIoT

e The season/ 3!1,7:[
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Correct Answer :-Atmospheric circulation / 3113_,1133‘111’ gRE=ERor

97)
Question Stimulus :-

Nitrogen fixation is accomplished by?

ArseiereT FeudieoT garT g R St 82

Bacteria in the atmosphere/ aTdTaYoT J GﬁHTUI

Bacteria in the soil / A & SFARAT

Plants / 9ier

The fungi/ hdsh
Correct Answer :-Bacteria in the soil / T2 & dFORAT

98)
Question Stimulus :-

In biogeochemical cycles, mineral cycles are

TS RTTTF A, gRaTaw &
e Gaseous cycle / el T%
e Hydro cycle / g3 ATEE
e Carbon cycle / HTae AISH
e Sedimentary cycle / ITHTET Th

Correct Answer :-

99)
Question Stimulus :-

Phosphate is mined primarily for:
BIEbE & fAT F&T T § Fle F1 @etoT frar S1ar 82

e Production of phosphor screens/ BIAHIX ThIeT & JcdTgeT
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e Production of fertilizer/ 343 &T IcqTG
e Production of phosphorus bombs/ FIEHRY T FHT FcUTGsT
e None of these / AR ¥ HIS gl

Correct Answer :-Production of fertilizer/ 3d3e T 3cqTGeT

100)
Question Stimulus :-

Which of the following energy sources does not produce carbon dioxide?

fFff@T & @ 39 FaT Q19 T ATH Id10 Y HTaT SISHTFATSS HT 3G Aa] FIAT &2
o Oil/ad
e Uranium / AAIH
e Coal /AIFaT
e Natural gas / Wi fa® 3\

Correct Answer :-Uranium / faa#
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